0000 FORTRAN

10 IF (X .GT. 0.000001) GO TO 20

X=—X
O00O0ooonO 11 Y=X*X-SIN(Y)/(X+1)

IF (X .LT. 0.000001) GO TO 50
20 IF (X+Y .LT. 0.000001) GO TO 30

oooogd
X=X-Y-Y
0000 00000 30 X=X+Y
No.6 (0D O0O) 50 CONTINUE
X=A
Y=B-A+Cx*xC
GO TO 11

0000000000 (Mitchell, “Concepts in PL", 2003 O 0)

0000 (D000 ooooao) gooooooo No. 6 (0DOO0O) 1/17 0000 (0000 ooooao) gooooooo No. 6 (0OO0O) 3/17

gooooooood goobogoobougaon

open List;; (x OOOOO %)
Dijkstra, “GO TO CONSIDERED HARMFUL" (1968) let rec mult x =
0 gto 00000000000 DNDNDNODNDNDDO if x=[] then 1
else (hd x) * (mult (tl x))
e 0000000000000 000000N000

in mult [2; -3; 5] ;;
o if-then-else, while, for, case ...
hdOOOOOOODODOOOOOOO
tt 0000000000000 0 (DooD)oooooo
mult [2;-3;5] => -30
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gooogn gooogn

mut00000000000000000000(00000)0000 let rec mult3 x =
googoooooon if x=[] then 1
else if (hd x) < 0 then (hd x)

let rec mult2 x = else

if x=[] then 1 let res = mult3 (tl x) in

else if (hd x) < 0 then (hd x) if res < O then res

else (hd x) * (mult2 (£l x)) else (hd x) * res
in mult2 [2; -3; 5] ;; in mult3 [2; -3; 5] ;;
o0ooooooooooo godgoooobooooooooooogggouoooooooogo

oboooooboon
gbobooboboobobooboboon

0000 (D000 ooooao) gooooooo No. 6 (0DOO0O) 6 /17 0000 (D000 ooooao) gooooooo No. 6 (0OO0O) 7/17

googodg good: 0do
mapUO0O0OO:
exception Negative of int ;; (DO OODO) open List;;
let inc x =x +. 1.0;;
try map inc [1.0; 2.0; 3.0];;
let rec multd x = map sqrt [1.0; 2.0; 3.0];;
if x=[] then 1 map sqrt [1.0; -2.0; 3.0];;

else if (hd x) <= 0 then

oooooOooOoOoOoOoOODOOO
raise (Negative (hd x))

else (hd x) * (multd (tl1 x)) exception Neg of float;;
in let £ r =
multd [2; -3; 5] if r < 0.0 then raise (Neg r)
with else sqrt r ;;
Negative n -> n ;; try
map £ [1.0; -2.0; 3.0]
raise (00 00O0)000000000O0O0O try-with (OOOOO)O0OO with
gooogooooo Negr—> [r];;
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goon OO00000000 (Coooooo)

exception E3;;

try
e JOOOODOODOODOUODOODOO let f x = raise E3 in
e JOOOOOOOOOOOOO let g x =
e JOIODOOODOOOOOOOOOCOOOOOOUOOUODOOOODOO tryf 10
Jobon with E3 -> 20
e JOO0OOOODOOOOODOOOOOODOOOO in
g O

with E3 -> 30;;

O00oooOo200000(@3o000on)

0000 (D000 ooooao) gooooooo No. 6 (0OO0O) 10 / 17 0000 (0000 ooooao) gooooooo No. 6 (0O DOO) 11 / 17

goobgooobgad 00O (continuation); DO O00O0O0O

ggoououoooobbobobooooo

let rec fact n =

if n=0 then 1
oo00ooooooooao else n * (fact (n-1))

in fact 10

C: setjmp(), longjmp()

0

@ C++: try-catch, throw let rec fact? n k =
@ Java: try-catch-finally, throw if n=0 then k 1
e ML: try-with (O O O handle), raise else

fact2 (n-1) (fun x -> k (n*x))
in fact2 10 (fun x -> x)

0000000000000 000o00oUoooooooooooo
oooog
fact2 0 fact OO O OO

fact2 10 (fun x -> x)
fact2 9 (fun x -> 10%x)
fact2 8 (fun x -> 10%9%x)
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O: fact2 9 (fun x -> 10xx) 0O OO0 mniCOOODOOOOODO:
boooooouoouoiooooooouodooioooooon e mniCO0OD0000D0O0D0OD0OD00N00DN0OD0OO
0000000000 (Continuation Passing Style) D00 00 0) emnCcO000DOO00000O0OO0000000N
0oooooo: m
C/miniCO0O0O return O :
let multd x =
let rec f x k = int £ (int x) {
if x=[] then (k 1)
else if (hd x < 0) then for (i=0; i<100; i++} {
(hd x)

else f (t1 x) (fun v -> k ((hd x)*v)) if (...) return 1;

in f x (fun v > v) }

mults [1;5;-3]
=> f [1;5;-3] (fun v->v)
=> f [5;-3] (fun v->1%v)

y = x 7 (return 10) : 5;

}

=> f [-3] (fun v->5%1%v)
=> -3 O0000000continue D OO
oooo ([DD] ooooo) gooooooo N0.6(DDDD) 14 / 17 oooo ([DD] DD:DD) gooooooo N0.6(]DDD) 15 / 17

e OO0 DLOODLOOUODLODLOODLODLOOOO

o IODOO
e (ODO)
e UOOUDOO:00O0O0C0ODOOLOODOOOODLDOODODO ou:
o HOOOOODOOOOOOOOOOOOOODOOOOOOOODOO e GOTOO (DODOOOOODDD)DDOOOOODODODOOOO
uobOooooboobooboooobn ooogo
o call/cc (call-with-current-continuation; Scheme, SML/NJ, Ruby) e DD COODDONODOOOODODOONODDOODODOOOOOOOO
ecall/cc0000OIOOODDOIODODUODODOUODOOODOOD
goooooboooobooon int mult2 (int* x, int len) {

if (len==0) return 1;
else if (*x < 0) { return *x;}
else return *x * (mult2(x+1,len-1));

}

e (DODODO) Scheme O call/cc O Ruby O yield 00O O0O0O0O0OO
ugooooooooo
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	制御構造

